HE

¥ EERE

\J
\g

7% JEBFE
HE (R4
BZERARIN T ) T AN)
RV~
D' —
B N
\,%
| o MEASPH
: S [T} oox—bxuF
| tEF
K
«Aefa
e ‘ ~ _4]’",_1
/7 i > et
- e/ g
\\ L |
‘ I
B HBHY BHRELT ‘J
L—L:T2dI-T75y NS—%HE
m & () B C D E F G H | J K (2fa1% ") R
L (A 1 %) t it Eke {EHEAIL N (1A [ 1F8A

K 50H 50 |86 |38 |114]| 49 | 55 |279| 11 |16 |18 | 76|32 | 180 | M10X35]| 60
K 60H 60 |100| 48 |[130| 54 | 65 |31.4| 11 | 16 | 20 | 76| 3.2 | 220 | 1/2X45 | 40
K 70H 70 |120| 52 |[150| 64 | 78 |34.4| 11 | 16 | 24 |10.5| 3.2 | 280 | M16X50 | 30
K 80H 80 |140| 62 |170| 73 |88 | 36 | 11 | 16 | 24 |10.5] 4 | 300 |M16X50 | 20
K 90H | 90 |160| 69 [200| 83 |100| 42 [13.5| 20 | 29 | 12 500 | M20Xx60 | 20
K100H | 100 |186| 76 |220| 92 |110| 42 |13.5]/ 20 | 30 | 14 | 4 | 600 | M20Xx60| 10

XRERELTRBEL X2 1 THHNET,

i

NNININININ

JVX L JEBRE
HE (BEDH) RIL, Fv Mt

180

BERRINT U TAY)

B |
E\

L= 729, 7Ty bIN—3%H

& & |gho| B | C | D | E | F | G |#EEFLL [15A
K 50H-N| 50 18 | 10 |[21.5] 11 | 38 | 7.6 | M10X35| 2
K 60H-N| 60 |20 |13 |25 |11 |48 |76 | 1/2X45| 2
K 70H-N| 70 | 24 | 16 | 28 | 16 | 52 |10.5| M16X50| 2
K 80H-N| 80 |24 |16 |28 | 16 | 62 |10.5| M16X50| 2
K 90H-N| 90 | 29 |20 |34 |21 |69 |12 |[M20X60| 2
K100H-N| 100 | 30 | 20 | 34 | 22 | 76 | 14 | M20X60 | 2

¥R - WECDVTR, FPELLEETDIENHDIIDTTTELLEEL, 75





